List 12.2.1. Algorithm for the doublet autocoder, autocode.rb.

1. Each phrase (term) in the nomenclature (neocl.xml) is converted into intercalated doublets, and each doublet is assigned a consecutive number.

2. Each nomenclature phrase is assigned the concatenated list of numbers that represent the ordered doublets composing the phrase.

3. Text is split into an array consisting of the consecutive words in the text.

4. The text array is parsed as intercalated doublets. Intercalated doublets from the text that match doublets found anywhere in the nomenclature are assigned their numeric values (from the doublet index created for the nomenclature). Runs of consecutive doublets from the text that match doublets from the nomenclature are built into concatenated strings of doublet values. The occurrence of a text doublet that does not match any doublet in the nomenclature cannot possibly be part of a nomenclature term. Such text doublets serve as "stop" doublets between candidate runs of text doublets that match nomenclature doublets.
5. The runs of matching doublets are tested to see if they match any of the runs of doublets that compose nomenclature terms or if they contain any subsumed terms that match nomenclature terms.

6. The array of doublet runs extracted from the text that match nomenclature terms are printed.

